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1- The word " do" in paragraph 2 refers to ...............
1) pay 2) consult 3) work 4) matter
3 d0 aalS .31 Cuesl MolS Lol s cazsi sl az 31 laie)lS Wlslel € € aiyS tadse il culw dwl M
1 o)Ll bl Cuesl iy 3¢5 5l 8 S8 @ 18,8
2- According to the passage, PeteFoley...................
1)directs a group of researchers
2) criticizes employees who do not consult whit others at their workplace
3) believes employees will never complain if their pay and benefits are below a minimum level
4) was once a sad employee who became happy after the result of a survey were implemented at his
workplace.
Adbio umuo ) aigjS aS cunl psly (Jsl s ¥ BLSLL ) azgi b € ) aiyjS tasse olul culw guwl
3- The author mentions fast-food workers in paragraph 4 primarily in order to ................ .
1)demonstrate their concern about their living conditions.
2) generalize the main point of the passage to workers other white-collar employees.
3)emphasize the adoption of strategies intended to prevent any unrest in business companies.
4) illustrate a case in which the finidins of the post- dispatch survey cannot be used to analyze the employer-
employee relationship.

4- Which of the following is most related to the word " compensation" in the last line of the passage?

1) proper treatment  2) sympathy 3) development 4) tangible reward
5- Scientists have set up so many experiments to ...... How earthquakes happen.
1) Tend 2) Solve 3) Find out 4) Keep

6- This is a very light chair. It is ... of a series of aluminum tubes.
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1) Composed 2) Consist 3) Aware 4) Afraid
7- Moslems ... Their shoes whenever they want to enter a mosque.
1) Keep on 2) Take off 3) Put on 4) Turn off
8- The teacher asked the student ... lesson 5.
1) That she had studied 2) That she has studied
3) If she had studied 4) Has she studied
9- This must be kept a ... between us. Nobody should know it.
1) Covered 2) Secret 3) Known 4) Puzzle
10- The stories ... either in English or Persian.
1) Can be told 2) Will tell 3) Can tell 4) Can be tell
11- If had treated her well she ...
1) Wont leave 2) Dose not Leave  3) Had Left 4) Would not have left
12- ..., follow the directions on the bottle carefully.
1) When taking drugs 2) When one takes drugs
3) When, in taking drugs 4) Wen taken drugs
13- These Flowers are really beautiful although they are...
1) Artificial 2) Official 3) Special 4) Social
14- Before anyone could photograph the strange looking bird, ....
1) It was flying away 2) It has flown away
3) It had been flying away 4) It flew away
15- They are my best friends, | always respect...
1) Their 2) They 3) Them 4) Themselves
16- Created something which did not exist before means.
1) Discover 2) Calculate 3) Invent 4) Involve
17- 1 wish you .... it last week.
1) Sent 2) Could sent 3) Could have sent  4) Have sent
18- Are you still here? You were here half an hour ago. Who...for?

1) Do you wait 2) Did you wait 3) Had you waited  4) Are you waiting
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19- The world is changing all the time, so are words. This sentence means that...
1) The world is changing, not words
2) Words are changing, not worlds
3) Only worlds are changing all the time
4) Not only the world but also words are always changing
20- It is argued that it is ............ for a manager to provide her staff with constructive feedback.

1) Actual 2) crucial 3) aware 4) entire
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1- 1 haven't seen her ...... she went to Shiraz.

1) while 2) as 3) since 4) because

B> 5l ol Jlo g JolS aisiS slo ooy 5 Jae o LT gloy 0ols olis s €@ P ainsS tasse ylpl culw gl
2l o guzo Fawl W digsS Wlawsdgi 4 azgi b 13 @S e oslaiwl since aslsl

2- | know | locked the door. | clearly remember .................... it.

1) locking 2) locked 3) lock 4) to lock

o>léiwl "Remember + verb=ing" ,bisLw jl aidiS ;5 LBLasH (39l Hbls @ sl €1 aiy;S taus,e plyl Culw gl M

bl o gumuo Ewl ) ;S clearly aud g Wlxwsgs @y azgi L 13 398 o

3- What was the name of the man ......... by the police?

1) to arrest 2) arresting 3) arrested 4) arrests

4- Let's go. We have waited ........... .

1) enough long 2) such a long 3) long enough 4) much long

5- Some hormones are ................... into the blood during sleep.

1) recognized 2) repaired 3) received 4) released

6- The club ...................... a wide variety of activities including tennis, swimming and squash.

1) concentrates 2) decreases 3) provides 4) ignores
7- We are worried about the results of the exam. "Worried" means...........cccccceuuueeennees
1) surprised 2) scared 3) concerned 4) shocked

8- The hotel is ideally ........... for visiting the surrounding area.

1) contained 2) located 3) floated 4) rattled
9- We must give the class ........ instructions on what they have to do.

1) natural 2) extreme 3) specific 4) domestic
10- In ....... of the Japan sea, scientists examined the sea bottom.

1) formation 2) imagination 3) explorations 4) construction
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